S LAPPSET.

SPORT

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE DINSTALLATION

DATE: 31.8.2015

081320M




Copyright Lappset Group Ltd

% LAPPSET.

SPORT

081320M

31.8.2015

— . Impact Area 51.6 m2, . . . . . . . ... 1:75
Grid size = 500 mm
7590
4440
1810
A
N N N e A . .
[ve)
n o o
+ + [A— 0 + + + + + [v5) + + + + + +
) 081206M ] 081205M
o
3
2 f "
= 1180 10 1180
e LQloszioM ) = L LS . .
o =
N I I e ——
. N . . . . . I . . . . . R . . ~o ¢ . . .
| | 7 N
R / N
+ + t + + + + + + + + + + +// + + + + + +\\+ + +
/ e
/ 202M \
+ + L + + + + + + + + 081201 M + + + + 08120 + + + +
II \|O8W790M
A . . 450 ./ . . . S B I . o . .
| | 150
o} LT 660 | ¢\ ¢ J.M70.77. 1780, . .
081255M \
OO \
.
+ + + + + + + n h + + + + + o+ + + +
ol /
M|
+ + + + + + + + + + + + + + + o + + +
, o
o
. . . . . . . . . . . . +081200M } . . [*)]
| 2
L Y . - . ,
1Y) I
M |
5090 930 [
I | 4
+ + + + + + + + + + + + + "+ + + + +
-~
7
+ + + + + + + + + + + + 7 + + + + + +
/
/ \
/ 081265M \
+ + + + + + + + + + + ’+ + + + + + + + + + + [ + +
|
+ + + + + + + + + + P + + h + + A + + + +
\ 1180 1180 1980 N
+ + + + + + + + + + + \\+ + + + + + + + + + + + /l + +
\ /
+ + + + + + + + + + + Nt + + + + + + + + + +// + +
\\ /
< 7/
+ + + + + + + + + + + + s~ + + + + + + + L7 + +
\\\ //
_———\\5—______—///
. . . . . . . . . . N . . . T ‘. . ‘+‘+‘ +‘ T . . . .
. . . . . . . . . . . . . . . . . . | . . . . .
o
(e}
+ + + + + + + + + + + + + + + + + + O + + + + +
2
1490
. e N oY 01 . .




Copyright Lappset Group Ltd

% LAPPSET.

081320M

DATE: 31.8.2015
—_— Area of Movement 121 m2 1:75
_— Impact Area 51.6 m2 0
Max Falling Height = 2320 mm
10470
HAEHA Y
//,/ ______
7/
/
/
/
/
|
| =
' =
l =
\
\
\
\
\
?
/
/
» I
2 l 2
- | 9
| s}
5 % I -
|
|
|
P
///
//
7/
/
/
/
/
/
’I
| 2 2

10480




Copyright Lappset Group Ltd

% LAPPSET.

SPORT

081320M

DATE: 31.8.2015

SA

2425

/[ 75 HL{\E




Copyright Lappset Group Ltd

% LAPPSET. 081320M

SPORT

DATE:

31.8.2015

i

081210

081290




Copyright Lappset Group Ltd

% LAPPSET.
SPORT

081210M

DATE:

31.3.2023

1(2)

PARTS
DET 45—-47

(1) 705094

(2) 705096

PCS

VATSA 700 VATSA 570
(3 705098 |pcs|(a) 906147 |Pcs|
a 1
16x471x1000| | 2x120x536 | |
(5) 906148 |rcs|(6) 980102 [Pcs|
\ 2 | | 8]
2x1000 | |  @5x40 | |
(7) 980106 |Pes((8) 980128 |PCs
6] F 16|
@5x40 - @7x40 -
(9) 906140 Pcs|(10) 906152 |Pes]
1 1]
565x480 | | 565x720 | |
BASE
DET 28—29 (1) 706023 |Pes|2) 980114 |pes
OR 31, 32, 35 1 4
| pax20 | |
(13 902272 [res|(4) 909519 |Pes({5) 909637 [Pes
: 4] 4 28|
S
=
90x90x450 ] 50x380x380_ M10 ]
909638 |pcs|(17) 909639 [pcs|(8) 906630 [pcs|
56 28 6
96| 28 / d
@ || | s
220/10,5 | | Miox2s | |  8x60 | |




Copyright Lappset Group Ltd

% LAPPSET.
SPORT

081210M

DATE: 31.3.2023

1:25

=r? L
,
To}
00
(o]
7
5 1470 [4-9 7/8" 3
v | (-9 7/8°] ©
— ~
o <+
| |
&, =
To) Tol
© N
© ~
, Y 140
Area of Movement 12.2 m2 1865 [6'—1 1/2"]
Training Space 3.1 m2
Max Falling Height 685 mm
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630
N
~
[ET I ©
pE— | — N ” |
— Ee— ||1500 [4'-117] 5
—rxn —
J— — N — t —
[T I o
©
0
M

560 [1"—10 1/8"]

1500 [4'-11/1/8"]

3970 [13'-0 3/8"]




Copyright Lappset Group Ltd

% LAPPSET.

081255M

J

SPORT DATE:  30.3.2023 1(2)
(1) 706032 [es|(2) 705158 [°cs|
1 1
| @37x16000 | |
(3) 704946 |pcs|(4) 980114 |pes
i 4]
PARTS Ll
DET 50
120x120x1350, | @4x20 | |
(5) 905761 [pcs|(B) 905830 |pcs|
4 4
905830 é
120x120x700_ 123x123x40 | |
(7) 980104 |cs|(8) 980123 ecs|
PARTS 4 24
PARTS DET 16 ] H
DET 28 2 %
A Z - -
||\$ @5x90 @7x60
704946 (9) 905753 [Pes|(1g) 905104 |°CS|
2] 16
- )
D @)
283x1477 N M10 B
(1) 980100 [7cs[(12) 909256 |[ecs|
16 24
gsx60 | | 216/8.4 | |
BASE e Pes
DET 1-4 PARTS - ]
OR 7-9 DET 54
PCS PCS




Copyright Lappset Group Ltd

% LAPPSET.

SPORT

DATE: 30.3.2023

081255M

2(2)

1:60 1:25
283 [11 1/8"]
% -~ —
& oy N
~ ~
© o) —
. © o
i . |
o) N, <«
= 3 o o
A - 2 S
o o -
o
405 [1'-4"]
1071
Area of Movement 34.5 m2
Training Space 3.1 m2 —
Max Falling Height O mm 3995 [13'=1 1/2"] N
0D
7940 [26'-0 7/8"] “I)
L,
ALL AREAS AND FALLING [HEIGHT o
ACCORDING TO EN 16630 8
N
N
~
/ -
o) (p) @
5] > | 0
@ ® Z
Sk — g
ﬂ- 2
5 S °
°|’ o
a T
— 0
8 —_
0 &
(o]
N

8330 [27'—4 3/8”]




Copyright Lappset Group Ltd

% LAPPSET. 081205M

SPORT DATE: 2.9.2021

DET 16

PARTS \\\<

DET 27

\
D

!
! ~

BASE
DET 40,41

G%{:j:>
PARTS

5830
(R PET 1

[Pey
£

<

DET 37-39

905780

BASE




Copyright Lappset Group Ltd

#® LAPPSET.
SPORT

081205M

DATE: 2.9.2021

2(3)

1:40 1:40
(7
— — :;x)
N I
0 E 0?
2 a2
o ®, o
~
o &
) = N
2 ’ » Lr)
& 1060 [3'-5 3/41]]
(-] o =
‘ ‘ 1180 [3'=10 1/2"]
! I
1:40
Area of Movement 14.3 m2
Training Space 3.8 m2
Max Falling Height 0 mm
1600 [5'-3"]
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630
o
~
[o)]
R
Te} /|
M 2 2
o NI
o |~
F = R
%Em p 1500 [4'—11 1/8"] o=
F ] o 0
32
NI®

1500 [4'-11)

2000 [6'-6 3/4"]

4600 [15'—1 1/4"]




Copyright Lappset Group Ltd

% LAPPSET.

081205M

SPORT DATE:  2.9.2021
(1) 706020 Pes|(2) 909500 [PCS (17) 980123 FCs|i8) 909256 |PCS
1] 4 24 24
TQB/
ol mioxeo || o7x60 | | o16/84 | |
(3) 980114 |Pes|(4) 904450 |pes 906642 |Pcs|@0) 980129 |pes|
4] 8 K 20
' (&) sty
N
-
@4x20 M16x170 250,/45x20 o5x35 | |
(5) 905104 (2) 705322 |pes|22) 905817 |Pes)
2 ”ﬂ 2
M10 120x120x150 120x120x2500] | 2626X386X60| |
(7) 906770 [pcs|(8) 905830 |Pcs| @3 906577 [¢S|@4) 907560 |FCs|
// 4] 2] 2] 2]
S Ly
@74/48x2 | | 123x123x40 | | 30x30x3x2250 | ©90/46-33 | |
(9) 906637 |pcs|i0) 906601 |Pcs|
1 \ L2
L=1590 | | 2450 5kg | |
(1) 906605 |rcs|{2) 908976 |rcs
2]
L=1060 | | @98/45x44 | |
(13) 705542 |pcs|(14) 980104 |pes
2
| @s5xe0 | |

(5 909628

S

|

M10x100

PCS

PCS




% LAPPSET.
SPORT

081206M

DATE: 2.9.2021

@

7

Copyright Lappset Group Ltd

DET 16

PARTS
DET 27

905817

S

b
<
<

~~—

2 BASE
< DET 40,41
DET 37-39 SASE
DET 1—4

905780




% LAPPSET. 081206M

SPORT DATE: 2.9.2021

1:40

2535 [8'—4"]

2510 [8'=2 7/8"]
2640 [8'-8 1/8"]

1060 [3'—5 3/47]

100 [4 1/8"]

1180 [3'=10 1/2"]

Copyright Lappset Group Ltd

Area of Movement 14.3 m2
Training Space 3.8 m2
Max Falling Height 0 mm 1600 [5'-3"]

ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630

w
~N
[0)]
| \
] |
Te] 00 <
, I
L 4 1500 [4-111/8"] | F|
~| -
= aa i
r I
RIS
A
o
o
0
2000 [6'-6 3/4"]
4600 [15'—=1 1/4"]




Copyright Lappset Group Ltd

% LAPPSET.

081206M

SPORT DATE:  2.9.2021
(1) 706021 [’5|(2) 909500 [Pes) (17) 980123 |°cs|(18) 909256 |°CS|
1] | 4] 24 24
\ <)
©
] wmioxeo || 07x60 | | woi6/8.4 | |
(3) 980114 |pes|(4) 904450 [Pcs| 906642 |Pcs|@0) 980129 |pes|
il 18] 4 29
@ )mmmw
N
v/
@4x20 M16x170 @50/45x20 @5x35
(® 905104 [pes|(5) 905780 [Pcs| 2) 705322 |Pcs(29) 905817 |rcs)
P 2| 2
\/ | !
MO | | 120x120x150] | 120x120x2500] | 2626X386X60| |
(7) 906770 [Pcs|(8) 905830 |pes| 23 906577 |°¢S| 24) 907560 |PCs]
/ 4] 2| 2] 2]
S O
@74/48x2 | | 123x123x40 | | 30x30x3x2250 | ©90/46-33 | |
(9) 906637 |pcs|i0) 906600 |Pcs|
1 2]
\ 0
L=1590 | | @450 10kg | |
(11) 906605 [pcs((2) 908976 |pcs
1 2
L=1060 | | ©98/45x44 | |
(13 705542 |pcs|(16) 980104 |pcs
2 2
§.\’\’/
| @sxe0 |
(15 909628 |PCs| Pcs
8 16

M10x100




Copyright Lappset Group Ltd

% LAPPSET.

081220M

SPORT DATE: 2.3.2023
(1) 706024 |Pes|(2) 705018 |pes
1] 4 |
| 120x120x1170] |
(3 980114 |Pes|(4) 980123 |pes
4] E 40
PARTS
g4x20 | | @7x60 | |
() 905761 [Pcs((6) 905830 |pes|
905830 /ﬁ\ 4 é 4]
120x120x700| | 123x123x40 | |
(7) 905838 |cs|(8) 905934 |Pcs|
2 | 1
@ 905934 - ]
L=1060 L=485
@ (9) 980104 |pcs|(0) 905104 |pes
% 25x90 | | M0 | |
(11) 909256 |Pcs pes
BASE 40| B
DET 1—4
OR 7-9 \ )
016/8.4 | | ]

PCS

PCS

PCS

PCS




% LAPPSET.

081220M

Copyright Lappset Group Ltd

SPORT DATE:  2.3.2023
1:30
)
= — — >
2 7
To) -
o <+
N ha —
> = | o
= < 2 2
k 10 Lo 365 [1'—2 1/4"]
0 pa N
—_ —I O ~—
S &, =
«
| il u
> [] [
| | 485 [1'-7 1/4"]
l [
Area of Movement 14.2 m2 1:50
Impact Area 13.4 m2
Training Space 1.8 m2 610 [2']
Max Falling Height 1200 mm
ALL AREAS AND FALLING ={
HEIGHT ACCORDING TO -
EN 16630 =
|
X,
o
©
<
IR
NS
ol ™
1500 [4'—=11 1/8"] I " P
Sl ¥
gl=| g
o
Q13| 2
= 2T
~
N
A
o
o
tl ” Lr)
1000 [3'-3 3/8"] =
3520 [11'-6 5/8"]
3610 [11'=10 1/4"]




% LAPPSET.

081290M

SPORT DATE:  2.4.2023 1(1)
(1) 705024 |pcs|(2) 705345 |pcs|
j 1 2
] PARTS
905830 ———PART: L |
DET 17 15x640x560 120x120x1520
(3 909633 [es|(4) 905104 |Pcs|
DET 3 - -
M8 M10
~ @ (5) 905761 |cs|() 905830 |pcs|
<> ;ﬂ@\ 2] 2]
120x120x700| | 123x123x40 | |
(7) 905936 |Pcs|(8) 909256 |Pcs|
2 28
BASE — T
g DET 1-4
OR 7-9
@ L=652 | | @16/8.4x1.6| |
(8) 909855 [Pcs|(0) 980104 [Pcs|
8 2]
»
g
M8x35 | | @5x90 | |
1:25 |(11) 980123 |pcs| pos|
TT |29 -
— _ o7x60 | | N
© © 901899 [PCs Pes
- N Optio [ —
T 7w 8 -
0 o .
— —| 0
o ol|—
n n | O
n 0| 0
- -2

100 [47]

650 [2'—1 3/4"]

N

h

Copyright Lappset Group Ltd

770 [2'=6 3/8"]

PCS




% LAPPSET. 081265M
SPORT DATE:  24.8.2017 1(2)

Copyright Lappset Group Ltd

(1) 706033 [pes(2) 705335 |pes

2

[/
| B
|

120x120x1000
(3) 705406 [pcs| (&) 980114 [pes

705388
I
& \/
906583) | 126xisixis | |  @4x20 | |
(5) 705405 |pes|(6) 905103 |pes
‘ @ﬂ ) m )
120x120x500 | | PT—28/32—H| |
PARTS (7) 905104 |pes|(8) 905761 |pcs|
PARTS 24| 6
DET 43 "\ @,)
s
8
- N 1 |
M10 120x120x700
PARTS /<\,/ (9) 905830 |pes|10) 905838 |pcs|
DET 8 3 2
705406 —] —
T =
123x123x40 | | L=1060 | |
(11) 906583 |Pes|(2) 909246 |Pes|(3) 980100 |Pes
/ 2] A =l
BASE o - -
DET 10—-12 126x181x14x3 M12x140 @5x60
OR 13-16 980104 [Pcs|15) 980123 |pes|(16) 980154 [pes

40
-

@5x90 @7x60 224/13
(17) 705231 |pcs|(8) 705388 |pes(19) 705402 [ees|@0) 909256 [pes
1 1 1 40

120x120x2290]  |120x120x2090  |120x120x2290| | @16/8.4

]
—9

|

[~ ]




% LAPPSET.

081265M

Copyright Lappset Group Ltd

SPORT DATE:  24.8.2017
1: 40
1060 [3'-5 3/4"]
| © = —
N — B
o5 © YN J
— ~ M ~N 1p)
= | ~ ” -
LR X = T
N — — ~ | [ | -
0 u — © 1L,
0 N o —
N M N n —
< o~ %) o N 2
~ Y N < S
] N S
o
EH% _ 1 1 1
2360 [7'-9"]
I |
Area of Movement 21.5 m2 +50
Impact Area 21.5 m2
Training Space 3.6 m2
Max Falling Height 2320 mm
2485 [8'-1 7/8"]
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630
— X
N R
~N © LCI)
- - .
o K M
= ul H 1910 [6-3 1/4"] | 2|
- ” o
N 2050 [6'-8 3/4"] — _ S R
oy ¥ S| ¥
EJ \}
00 )
| |
© 3
o o
3] >
N Al

2180 [7'=1 7/8"]

6190 [20'-3 7/8"]




Copyright Lappset Group Ltd

% LAPPSET.

SPORT

081200M

2

DATE: 31.3.2023
(1) 706017 [Pcs|(2) 980114 |Pes|
1] d
-
(3) 705428 |PCs|
705428 | oxo0x4so ||
90x90x450
(®) 909519 |Pcs|(5) 909639 |PCS|
Ea
|| P
50x380x380 | | wMiox2s5 | |
@ 909638 |PCS 909637 |Pcs
16 8]
\mat
©20/10.5 B M10 B

DET 22-24
OR 25-27




Copyright Lappset Group Ltd

% LAPPSET.
SPORT

081200M

DATE: 31.3.2023
1:15
7
0
865 [2'—10"] N
I
o
o)
5]
Area of Movement 12 m2 - 40
Training Space 5.3 m2 " ”
Max Falling Height 300 mm 985 [3'-2 3/47]
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630
N
N -
= = 1500|[4=111/8"] | —| w©
me= [y R |
[ % o —
== == Y P
o 2 8
3 < A
g -
I s
— |
= ~
3 —_
7 S
rg)

2000 [6'—6 3/4"]

3985 [13'—1"]




Copyright Lappset Group Ltd

% LAPPSET.

081201M (O

SPORT DATE:  31.3.2023 1(2)
(1) 706018 [Pes|(2) 980114 |Pcs)
1 i
D
| eaxe0 | |
(3 705411 [Cs|(4) 902272 |pos|
~ he A
90x9x450 ]
(5) 909519 |cs|(6) 909639 |Pcs|
i 8
/.%0 .

& | F
50x380x380_ M10x25 N
(7) 909638 |Cs|(8) 909637 |Pes|
16] 8

&
220/10.5 B M10 ]

DET 22-24
OR 25-27




Copyright Lappset Group Ltd

% LAPPSET. 081201M

SPORT DATE:  31.3.2023

450 [1'-5 3/4"]

945 [3—1 1/4"]

Area of Movement 12.3 m2
Training Space 5.3 m2 1080 [3'-6 5/8"]

3485 [11'=5 3/8"]

Max Falling Height 450 mm
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630 /\
1500([4'=11"]
i | T —
p— | T —
p— | T —
J— | I —
— | . —
5
N
~
R
o
4080 [13'-4 3/4"]

240




Copyright Lappset Group Ltd

% LAPPSET.

081202M ()

SPORT DATE:  31.3.2023 1(2)
(1) 706019 [Pcs|(2) 980114 |Pes]
1] d
@

] @4x20 N
(3) 705412 [Fes|(4) 902272 |PCS
> 4
90x9x450 i
(5) 909519 |cs|(6) 909639 |Pcs|
4 8
Y 8
50x380x380 ] M10x25 N
(7) 909638 |Pes|(8) 909637 |PCs
16 8]

&
220/10.5 | | Mo | |

DET 22-24
OR 25-27




Copyright Lappset Group Ltd

% LAPPSET.
SPORT

081202M

DATE: 31.3.2023
1:15
o
~
~
0
To}
o
©
1030 [3’'-4 5/8”]
I
Area of Movement 12.6 m2 - 40
Impact Area 10.7 m2 1 '"_10 1/2”
Training Space 5.3 m2 80 [5'-10 1/27]
Max Falling Height 605 mm
ALL AREAS AND FALLING HEIGHT
ACCORDING TO EN 16630
NS
p— AT ™~ M
p— or— ~— mn
R i0— 1500 |[4'—11 1/8"] Jo
T o w— e} —
== == )
To} To)
N 2 9
N B
~
R
o
2 2 /
2000 [6'-6 3/4"]
3630 [11'=11"]

4180 [13'—8 3/4”]




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright 1998 Lappset Group Ltd

% LAPPSET

PARTS

SPORT DATE:  26.8.2015 1(10)
DET 1 DET 2
716 /8.4
@ 316,/8.4
IS (909256)
. 3
O7x60 P )j
(980123) N
&
\\\905934
DET 3 DET 4 .
0 L M8 «
705024 (=0 | I iMoo (009633)]  /(0092%)

M8 N SCrews 905956
(909633) @ (901899) ¢ - MBx35
o1 6/8 4 / 5 / (909855)

909256 ; 'f Two—sided
< ) /N 0 o use M8x45

M8x35 SCrews
(909855) el ¢(901899)
Acryl+sticker \kf_’//
DET 5@ZWEx/8¢4V DET 6
5093553 TYED 716 /8.4
) (980123) (909256)
O7x60 -
(980123)

906009




Copyright 1998 Lappset Group Ltd

% LAPPSET. PARTS
SPORT DATE: 26.8.2015 2(10)
DET 7/ / DET 8 @24/W3
ME W24 /8.4
930154
(909633) (980152) Q ( )
| MT2XT40
‘o ‘ (909246)
i M8x30
(909852) 905105
.
DET 9 DET 10
/05049
716 /8.4
(909256)
/X060
(98@W237\\\\t77§
/ —_ /%60
906114 / (980123)
/05597
DET 11
Ny @
G7x60 / ‘*
705397 (980123)
S 716 /8.4
M10 e (909256)
(905104) =@
@ /05392




% LAPPSET. PARTS

SPORT DATE: 26.8.2015 3(10)
DET 13 DET 14
LO)
016 /8.4 s
(909256)

0/ x60
(980123)

DET 15 DET 16

5%100 Wox90
(909233) (980104)
$32/13.5 e 905830
(909253)
Place the logo laterall

Copyright 1998 Lappset Group Ltd

M12 724 /8.4
(902234)| 1 (509505)
DET 17 | DET 18
ox90
Joxdu ] (980104)
(980104) PN
905330 9058450

Place the logo laterdll

Place the logo laterall




Copyright 1998 Lappset Group Ltd

% LAPPSET.

PARTS

SPORT DATE: 26.8.2015 4(10)
DET 19 = = DET 20
M10x40
- (901487)
M10Ox55
(902252)
020 /10.5x2 19%x21%x25

(901302)

M10
(909637)

(903193)

220 /10.5x2
(901302)

M10
(909637)

o wm

e

Muoviosan sijoitus (903193)
Position of the plastic piece

/05435
/054354

Jax /0

////<9OC&“MD

%

DET 23
D52
(905083)

216 /8.4

(980151)

DET 24




8% LAPPSET. PARTS
SPORT DATE:  2.9.2021 5(10)
DET 25 /2% 75 DET 26
(909850) ﬁ@/ 216/8.4
- “ @( (909256)
04/8.4 e
(980152) (980123)
M8 -
; D7x60
| b~ (980123
DET 27 DET 28
216 /8.4
9065// b Q (909256)
905/955
- 77 x60 ‘ \Q
(980123) ™ 9 °
DOX50 75X60
<98©W29> (980“]@)
/
DET 29 DET 30
M8x 30 <
902195
(902233)
o 024 /8.4
L / B (980152)
S, Bt a ~ 94
FETS AN M8
MIOx00 géé%%) 716 /8.4
906006 (902232) "
(909256)

Copyright 1998 Lappset Group Ltd




% LAPPSET

PARTS

SPORT DATE: 24.6.2020 6(10)
DET 31 | DET 32
7
M8x40 s <
@W@/@34* <909873y\xi////1
(909256) %%?!
B7x60 e |
(980123) > — 5
X 216 /8.4
705461 M8 (909256)
(909633)
DET 33
216 /8.4
(909256)
@7x60 .
(980123)

/05505

THE WATER HOLE d

DET 35

Copyright 1998 Lappset Group Ltd

\
@\
@ THE WATER HOLE

\\

WEx60
« (906630)

/05520

DET 36

90663/




% LAPPSET

PARTS

Copyright 1998 Lappset Group Ltd

SPORT DATE: 26.8.2015 7(10)
DET 37/ DET 38
N
SN P
/055608 (980123)
@ g |, \@\ %@
o @16 /8.4 %ggﬁ .,
M10 @ (909256)
(905104) @ ||l @ | &
®
705568
DET 39 DET 40
906615
B ]
§ © =
N /X
o (980123)
906613 = — 716 8.4
f (909256)
DET 41 DET 42
M8x 40
(909873) M10 MTOx55
705585 (980161) (802232)
NS M10x30

(909256)

M8
(980160)

(902233)




Copyright 1998 Lappset Group Ltd

% LAPPSET

PARTS

SPORT DATE: 26.8.2015 8(10)
DET 43 —
Jox60
JoxbU (980100)
@%xmoo>\\\
9062835
705406
DET 45 DET 46
8x60 -
/

/
/ / /
/ / / /
/ / / |
/ / ) /
/ / /
/ / |
/ / / / |
/ / / |
I/ / / / /
/ / / /
/ / /
/ / |
/ |
/ / 5
/ I
r/
r/ /
/ |
/ |
L — .
) L LS

—————
WIgHE———

141

906147 11 |
(1011 i
/x40
(980128)
el \\\\\%%%/;/¢%/’ DET 48
(e W8x/0 /050587
(980102) . (900240)
I
225148 = 905800 ™~ \:§i§;22%§§
=< @57 60
1 u (x2)
Huom!
Fsireika
Note:
Pre—drilled
(980106) e




Copyright 1998 Lappset Group Ltd

% LAPPSET

PARTS

SPORT DATE: 26.8.2015 9(10)
DET 49 DET 50
o7 332 .
(905083) J15—20
905112
( ) 7306767 (980160) 18445

(901899)

(980150)
316 /8.4
(980151)
M8Ex /0
(909267)
DET 51 M1 0% 30 10%55 DET 52 @W6/8q4
902273 @322 (980151
(9@5WW2>
MEx6 0
Y (9@9@97)
<905083)
b Tl
M8 s Ny
902195 ®e
! M10 | ®

DET 53 DET 54

@W6/8/$

(909256)

W8Ex90
(903093)
@
908019

ffo

7

: \\@
" e Y




Copyright 1998 Lappset Group Ltd

% LAPPSET PARTS

SPORT DATE: 26.8.2015 10(10)
DET 55 DET 56
@
[ | o
M Joxo60
[ ) (980131)
| |
I ]$ 906632
[ I 906652
T @
DET 57 DET 58

DET 59 DET 60




Copyright 1998 Lappset Group Ltd

M LANFFE L6 PAYLR
SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
J16 1 > 150 .
9| (O——1
120 Nm
M16x170
O
@) sl
<~ : qoadooo
o o oo
*},8° B0 g°Ege 97 ¢ dege
SIS IXS TS TN TS TS PN TN T

Concrete / Betoni K30

DET 3 DET 4
B7x60
(980123)
M10
(905104) 016 /8.4
(909256)
905780
DET 5 DET 6
A A A
154©l: 64@J
O
| O
O
. i o N i
I\ ke 090;0%0 cﬁO§£’09 o? \r—rr
1;7 o | T 1l o9 __Q : v
" VAV

CONCRETE 200x300x1500




% LAPPSET.

BASE

Copyright 1998 Lappset Group Ltd

SPORT DATE:  4.11.2021 2(10)
DET 7 @8x400 (x2) DET 8
A 500 HW
\/
i
r100
T .
. /o O
O s e -~ M10 -
M) 05 90| |08%o, i (905104) e |
SN 08 D08 08 0808 D88 8 8 /¢ e
905761 ©
[%QQX5QQJ%\ —
Concrete / Betoni K30 —
DET 9 DET 10 P8x400 (x4)
A 500 HW
0/ x60 Y /
(980123) T
r100 )
< e 1 [ O
o N - - :4;;§>\ ©
716 /8.4 U Dy s ] et g
=
(509256) Y Y Y Y oYY
300xo000
-y Concrete / Betoni K30
DET 11 DET 12
~
N ey
57x60 > O
(980123)
M10
(9@5“]4) @W6/84
(909256)

(




% LAPPSET.

BASE

SPORT DATE:  29.4.2015 3(10)
DET 13 DET 14
16 1 > 130
\ alinliecS——
e [P 120 Nm

160

906557 /L e J

h>150

ﬁ M16x170

ﬂfﬁ
E,g ==
°0 °o g a° o d°ge
OO Oo O °
O ropget O°gae O Q °o°

/0@7V%W§@§W§0@7%W
Concrete / Betoni K30

Copyright 1998 Lappset Group Ltd

DET 15 DET 16
/;J -
-9 D
? om0 N
M10 (980123)
(905104)
By
216 /8.4
(909256) '
906507/
DET 17 DET 18




Copyright 1998 Lappset Group Ltd

% LAPPSET.
SPORT

BASE

DATE:

29.4.2015

4(10)

DET 20

J10 Vv 90

@Wi/

>100

{QK %ﬂﬁﬁﬁi:3i5§v>
o q H

R - O°° O°° Qo O°° B O°°
R et N e M | I
Q° 40" Q°

. O

AN

9 oY o
Cioe °°°q° Qo“\&
ﬁx Safety surface

ANV
Betoni /
Concrete

DET 22

< 600

M )
[z

500

2 /1

DET 23

720/10.5
\(909638)
M10

(909637)
90227/2

@

g

[@)
SN
Sk

&

M10 -
(9@9637)\\QZ

902272

o =eeerls
MTOX25

(909639)
909519

@20/10.5
(9096 38)

(50)




Copyright 1998 Lappset Group Ltd

% LAPPSET

SPORT

BASE

DATE: 29.4.2015

5(10)

DET 25

/0054127

DET 26

Esireika / Pre—drill hole.

1

01 90

~ . 35 Nm
'QOﬁ---
<« M10x100

%
V ¥
\ /
or u.[]So os OF 02 0° oo 02 oo 09 0f., 208 2 024, or
. B\ [ f e 2 o 2 o 2 Fe EE Sl
9057/45 - s ot or o om0 tor oMo Vo Ter o g o
- o or o o b
s Betoni Concrete K30. O
M0 — -
=]
Safety surface A
DET 27/ DET 28

905745

MTOx100

C o

/05096

906140

= ==}
(909628)
DET 2 DET 30
Esireikd / Pre—drill hole.
@10 J 90
— 35 Nm
/QQ-MIIIII
<« MI10x100
%)
V T T
i w1
o DGO.“ ao'l’{} SO 000. >0 o2 o ° o lo

\ Betoni / Concrete K30. O

Safety surface




Copyright 1998 Lappset Group Ltd

% LAPPSET

BASE

SPORT DATE: 29.4.2015 6(10)
DET 31 DET 32
M10x25
/(909639)
- firmrn) I A g of
© ' O] e
ol W mmmm E Yy
= g
vti% §§
DS 0
Ve la? 2 @20/10.5
(509637) (909638)
DET 33 DET 34
906644
MI1Z 2 506645
(909248) s
M10x30
524 /13 g (s09629)
(980154) 3 220/10.5
= (909638)
& © ® M10
MT2x40 /Q 9 ® |g——" (909637
. |€
(909109) ~ 509979
005299 L
DET 35 DET 36
‘ 902272
ﬁﬁ it M10x25
o | (909639)
U @20/10.5
— (909638)
909519
g M0
= 90965/
ﬁﬁgﬁy//////T )




Copyright 1998 Lappset Group Ltd

% LAPPSET
SPORT

BASE

DATE: 29.4.2015 7(10)

DET 37

X=> 100

\ Betoni

Concrete

MTOx100

DET 38
107 >90

)
5

O
@)

O

O O
|

905817 =
306014 90

DET 39

9096238

y

DET 40
/00042

M10Ox100
(909628)

DET 41

hole.
-~ . 35 Nm

(Y= —

<« M10x100

Esireikd / Pre—drill
@10 J 90

N

DET 42

AV
OO_"
o

I V-Y
o S'B\

> o2 O° o2 O° op 02 0%, 02 02 2 00, os
o opo © o a Pl ° o N ° o o N °
o o2 o? ° o2 ° c
o° o oe o " op °D.° o op S o
o o o o ° no o °
o7 o “op o o oe 02 02 op o1 op
° o o o ) o °

\ Betoni / Concrete K30.

O
O
Safety surface N




% LAPPSET BASE
SPORT DATE: 15.8.2017 8(10)
DET 43 DET 44
904064 -
ﬁﬁ it M10%x25 .
- (909639)

SN ©20/10.5
=N (909638)

Copyright 1998 Lappset Group Ltd

DET 46
2107 >90
.
5 O
> O
Y ¢
e 906114 90
M10x100 \Efﬁﬁge
DET 47 DET 48
716 /8.4
M10
(980150) =
= %
S 320/10.5
(9@9658) 909519
M10x100 M1OX25 =

(909628)

(9096 39)




Copyright 1998 Lappset Group Ltd

% LAPPSET

BASE

SPORT DATE:  29.4.2015 9(10)
DET 49 DET 50
O
O
@ )
v AN N\
WA N 7
77777 - -4t —g 1 Q: 9¢ BQ: QTR Q¢ oo
= i1l 8 g ot |l "t il ergq 8
R il RS
L 830 M10x100 /  \“EEeiee
DET 51 DET 52
J107 >90
&Y N
—O O
S O
T T
909628
906731 90
DET 53 DET 54 90K 729
- M10x25
2 " (9096 39) \
|
320/10.5 /4
N Iz 909638 AR
PN ( > NN
290
909519




8 LAPPSET

BASE

Copyright 1998 Lappset Group Ltd

SPORT DATE:  29.4.2015 10(10)
DET 55

STEELNET @6 #150 NOTL!
(1400x2100) Hox
Concrete

1500X2200X200 K30

O
O
ﬂ\

B@Qj&a

PITTR TR

DET 56

DET 57

906 /20

MT1Ox25
(909639)

\SyAR S —

(9096 38)

®

N A A/ /A o/ A/ A/ A/ N/
M10
(909637)
DET 58 DET 59
Esireikd
Pre—drill hole. ~ MT1Ox25
#3107 90 N ﬁ/—
M10x7100 o if .
59 Nm n| . QZO/WOB
2 A\ @\\%@
o A o . . . : = ®@
0.° °O - 3 oO °¢2,° OO-"(;. O_uq (&)
ao : o.gi o g @

\ Betoni / Concrete

Safety surface

®

®

= __M10
90227/2

K






